



ELSEVIER

Contents lists available at ScienceDirect

Linear Algebra and its Applications

journal homepage: www.elsevier.com/locate/laaNew lower bounds on eigenvalue of the Hadamard product of an M -matrix and its inverse[☆]

Yao-Tang Li*, Fu-Bin Chen, De-Feng Wang

School of Mathematics and Statistics, Yunnan University, Kunming, Yunnan 650091, PR China

ARTICLE INFO

Article history:

Received 20 May 2008

Accepted 3 November 2008

Available online 19 December 2008

Submitted by R.A. Horn

AMS classification:

15A06

15A15

15A48

Keywords:

Nonnegative matrix

 M -matrix

Hadamard product

Minimum eigenvalue

Lower bounds

ABSTRACT

Some new lower bounds for the minimum eigenvalue of the Hadamard product of an M -matrix and its inverse are given. These bounds improve the results of [H.B. Li, T.Z. Huang, S.Q. Shen, H. Li, Lower bounds for the minimum eigenvalue of Hadamard product of an M -matrix and its inverse, *Linear Algebra Appl.* 420 (2007) 235–247].

© 2008 Elsevier Inc. All rights reserved.

1. Introduction

A matrix $A = (a_{ij}) \in \mathbb{R}^{n \times n}$ is called an M -matrix if $a_{ii} > 0$, $i \in N$; $a_{ij} \leq 0$, $i \neq j$, $i, j \in N$, A is nonsingular and $A^{-1} \geq 0$, where $N = \{1, 2, \dots, n\}$ (see [1]).

If A is an M -matrix, then there exists a positive eigenvalue of A equal to $\tau(A) \equiv [\rho(A^{-1})]^{-1}$, where $\rho(A^{-1})$ is the Perron eigenvalue of the nonnegative matrix A^{-1} , $\tau(A) = \min\{|\lambda| : \lambda \in \sigma(A)\}$, $\sigma(A)$ denotes the spectrum of A (see [2]).

[☆] This work was supported by National Natural Science Foundation of China (30770500) and the Natural Science Foundation of Yunnan Province (2007A020M).

* Corresponding author.

E-mail address: liyaotang@ynu.edu.cn (Y.-T. Li)

For two matrices $A = (a_{ij}) \in R^{n \times n}$ and $B = (b_{ij}) \in R^{n \times n}$, the Hadamard product of A and B is the matrix $A \circ B = (a_{ij}b_{ij})$. If A and B are M -matrices, then it was proved in [2] that $A \circ B^{-1}$ is again an M -matrix.

Let $A = (a_{ij}) \in R^{n \times n}$ be an M -matrix. It was proved in [3] that $\tau(A \circ A^{-1}) \leq 1$.

Subsequently, Fiedler and Markham in [2] proved that $\tau(A \circ A^{-1}) \geq \frac{1}{n}$, and conjectured that $\tau(A \circ A^{-1}) \geq \frac{2}{n}$. Yong [4], Song [5] and Chen [6] have independently proved this conjecture.

Li in [7] improved the conjecture $\tau(A \circ A^{-1}) \geq \frac{2}{n}$ of Fiedler and Markham, and obtained the following result:

$$\tau(A \circ A^{-1}) \geq \min_i \left\{ \frac{a_{ii} - s_i R_i}{1 + \sum_{j \neq i} s_{ji}} \right\},$$

which depends only on the entries of matrix A , instead of the dimension of matrix A , where $s_{ji} = \frac{|a_{ji}| + \sum_{k \neq i, l} |a_{jk}| d_k}{a_{jj}}$, $j \neq i, j \in N$; and $s_i = \max_{j \neq i} \{s_{ij}\}$, $R_i = \sum_{k \neq i} |a_{ik}|$, $d_k = \frac{\sum_{j \neq k} |a_{kj}|}{|a_{kk}|}$, $i, k \in N$.

Recently, Huang in [8] proved the following inequality

$$\tau(A \circ B^{-1}) \geq \frac{1 - \rho(J_A)\rho(J_B)}{1 + (\rho(J_B))^2} \min_{1 \leq i \leq n} \frac{a_{ii}}{b_{ii}},$$

where A and B are M -matrices and $\rho(J_A)$, $\rho(J_B)$ is the spectral radius of J_A and J_B . When $A = B$, the inequality provided another lower bound of $\tau(A \circ A^{-1})$, that is

$$\tau(A \circ A^{-1}) \geq \frac{1 - (\rho(J_A))^2}{1 + (\rho(J_A))^2}. \tag{1.1}$$

The bound (1.1) is a theoretical formula and it is difficult to calculate the lower bound of $\tau(A \circ A^{-1})$ by using this formula because of the difficulty of calculating the spectral radius of the Jacobi iterative matrix $\rho(J_A)$ when the order of A is large.

In this paper, we present some new lower bounds for $\tau(A \circ A^{-1})$. These bounds improve the results of Li in [7] and their calculations are easier than Huang’s formula (1.1).

For any $i, k, l \in N$, denote

$$r_{ii} = \frac{|a_{ii}|}{|a_{ii}| - \sum_{k \neq l, i} |a_{lk}|}, \quad l \neq i; \quad r_i = \max_{l \neq i} \{r_{li}\}, \quad i \in N.$$

$$c_{ii} = \frac{|a_{ii}|}{|a_{ii}| - \sum_{k \neq l, i} |a_{kl}|}, \quad l \neq i; \quad c_i = \max_{l \neq i} \{c_{il}\}, \quad i \in N.$$

2. Some lemmas and notations

In this section, we give some lemmas that involve inequalities for the entries of A^{-1} . They will be useful in the following proofs.

Lemma 2.1 [4]. (a) If $A = (a_{ij}) \in R^{n \times n}$ is a strictly row diagonally dominant matrix, that is, $|a_{ii}| > \sum_{j \neq i} |a_{ij}|$ for every $i \in N$, then $A^{-1} = (b_{ij})$ exists, and

$$|b_{ji}| \leq \frac{\sum_{k \neq j} |a_{jk}|}{|a_{jj}|} |b_{ii}|, \quad \text{for all } j \neq i.$$

(b) If $A = (a_{ij}) \in R^{n \times n}$ is a strictly column diagonally dominant matrix, that is, $|a_{ii}| > \sum_{j \neq i} |a_{ji}|$ for every $i \in N$, then $A^{-1} = (b_{ij})$ exists, and

$$|b_{ij}| \leq \frac{\sum_{k \neq j} |a_{kj}|}{|a_{jj}|} |b_{ii}|, \quad \text{for all } j \neq i.$$

Lemma 2.2. (a) Let $A = (a_{ij}) \in R^{n \times n}$ be a strictly row diagonally dominant M -matrix. Then, for $A^{-1} = (b_{ij})$, we have

$$b_{ji} \leq \frac{|a_{ji}| + \sum_{k \neq j,i} |a_{jk}| r_i}{a_{jj}} b_{ii}, \quad \text{for all } j \neq i.$$

(b) Let $A = (a_{ij}) \in R^{n \times n}$ be a strictly column diagonally dominant M -matrix. Then, for $A^{-1} = (b_{ij})$, we have

$$b_{ij} \leq \frac{|a_{ij}| + \sum_{k \neq j,i} |a_{kj}| c_i}{a_{jj}} b_{ii}, \quad \text{for all } j \neq i.$$

Proof. (a) For $i \in N$, let $r_i(\varepsilon) = \max_{l \neq i} \left\{ \frac{|a_{il}| + \varepsilon}{a_{il} - \sum_{k \neq l,i} |a_{kl}|} \right\}$. Since A is strictly diagonally dominant, then $\frac{|a_{il}|}{a_{il} - \sum_{k \neq l,i} |a_{kl}|} < 1$. Hence, there exists $\varepsilon > 0$ such that $0 < r_i(\varepsilon) < 1$. Let $R_i(\varepsilon) = \text{diag}(r_i(\varepsilon), \dots, r_i(\varepsilon), 1, r_i(\varepsilon), \dots, r_i(\varepsilon))$.

For a given $i \in N$, one checks that the matrix $AR_i(\varepsilon)$ is again a strictly row diagonally dominant M -matrix. In fact, for $j \neq i$, we have

$$r_i(\varepsilon) > \frac{|a_{ji}|}{a_{jj} - \sum_{k \neq j,i} |a_{jk}|}, \quad j \neq i, \quad j \in N.$$

So

$$|a_{ji}| + r_i(\varepsilon) \sum_{k \neq j,i} |a_{jk}| < r_i(\varepsilon) |a_{jj}|, \quad j \neq i, \quad j \in N. \tag{2.1}$$

While, for $j = i$, we have

$$\sum_{k \neq i} |a_{ik}| r_i(\varepsilon) < \sum_{k \neq i} |a_{ik}| < a_{ii}. \tag{2.2}$$

From (2.1) and (2.2) we have proved that $AR_i(\varepsilon)$ is strictly row diagonally dominant, so it is also an M -matrix. By Lemma 2.1 (a), we derive the following inequality:

$$r_i^{-1}(\varepsilon) b_{ji} \leq \frac{|a_{ji}| + \sum_{k \neq j,i} |a_{jk}| r_i(\varepsilon)}{r_i(\varepsilon) a_{jj}} b_{ii}, \quad j \neq i, \quad j \in N.$$

i.e.,

$$b_{ji} \leq \frac{|a_{ji}| + \sum_{k \neq j,i} |a_{jk}| r_i(\varepsilon)}{a_{jj}} b_{ii}, \quad j \neq i, \quad j \in N.$$

Let $\varepsilon \rightarrow 0$ to obtain

$$b_{ji} \leq \frac{|a_{ji}| + \sum_{k \neq j,i} |a_{jk}| r_i}{a_{jj}} b_{ii}, \quad \text{for all } j \neq i, \quad j \in N.$$

(b) For matrix $C_i(\varepsilon)A$, where $C_i(\varepsilon) = \text{diag}(c_i(\varepsilon), \dots, c_i(\varepsilon), 1, c_i(\varepsilon), \dots, c_i(\varepsilon))$, $i \in N$ and

$$c_i(\varepsilon) = \max_{l \neq i} \left\{ \frac{|a_{il}| + \varepsilon}{a_{il} - \sum_{k \neq l,i} |a_{kl}|} \right\}, \quad i \in N,$$

by Lemma 2.1 (b) and the same technique as in the above proof (a), Lemma 2.2 (b) is obtained. \square

In the following, we need the notations

$$m_{ji} = \frac{|a_{ji}| + \sum_{k \neq j,i} |a_{jk}| r_i}{a_{jj}}, \quad j \neq i, \quad j \in N; \quad m_i = \max_{j \neq i} \{m_{ij}\}, \quad i \in N.$$

Lemma 2.3. Let $A = (a_{ij}) \in R^{n \times n}$ be a strictly row diagonally dominant M -matrix. Then, for $A^{-1} = (b_{ij})$, we have

$$\frac{1}{a_{ii}} \leq b_{ii} \leq \frac{1}{a_{ii} - \sum_{j \neq i} |a_{ij}| m_{ji}}, \text{ for all } i \in N.$$

Proof. (1) Let $B = A^{-1}$. Since A is an M -matrix, then $B \geq 0$. Since $AB = I$, we have

$$1 = \sum_{j=1}^n a_{ij} b_{ji} = a_{ii} b_{ii} - \sum_{j \neq i} |a_{ij}| b_{ji}, \text{ for all } i \in N.$$

Hence

$$a_{ii} b_{ii} \geq 1, \text{ for all } i \in N, \text{ that is, } \frac{1}{a_{ii}} \leq b_{ii}, \text{ for all } i \in N.$$

(2) By Lemma 2.2 (a), for all $i \in N$,

$$\begin{aligned} 1 &= a_{ii} b_{ii} - \sum_{j \neq i} |a_{ij}| b_{ji} \geq a_{ii} b_{ii} - \sum_{j \neq i} |a_{ij}| \frac{|a_{ji}| + \sum_{k \neq j, i} |a_{jk}| r_i}{a_{jj}} b_{ii} \\ &= \left(a_{ii} - \sum_{j \neq i} |a_{ij}| m_{ji} \right) b_{ii} \end{aligned}$$

i.e.,

$$b_{ii} \leq \frac{1}{a_{ii} - \sum_{j \neq i} |a_{ij}| m_{ji}}, \text{ for all } i \in N. \quad \square$$

Remark 2.1. Example 4.1 shows that Lemmas 2.2 and 2.3 are improvements of Theorems 2.1 and 2.3 of [7].

Lemma 2.4 [9]. Let $A = (a_{ij}) \in C^{n \times n}$ and let s_1, s_2, \dots, s_n be positive real numbers. Then all the eigenvalues of A lie in the region

$$\bigcup_{i=1}^n \left\{ Z \in C : |Z - a_{ii}| \leq s_i \sum_{j \neq i} \frac{1}{s_j} |a_{ji}| \right\}.$$

Lemma 2.5 [2]. If P is an irreducible M -matrix, and if $Pz \geq kz$ for a nonnegative nonzero vector z , then $k \leq \tau(P)$.

Lemma 2.6 [10]. If A^{-1} is a doubly stochastic matrix, then $Ae = e, A^T e = e$, where $e = (1, 1, \dots, 1)^T$.

3. Main results

In this section, we exhibit a new lower bound for $\tau(A \circ A^{-1})$, which improves the result of Li et al. in [7] and the conjecture of Fiedler and Markham.

Theorem 3.1. Let $A = (a_{ij}) \in R^{n \times n}$ be an M -matrix, and suppose $A^{-1} = (b_{ij})$ is doubly stochastic. Then

$$b_{ii} \geq \frac{1}{1 + \sum_{j \neq i} m_{ji}}, \quad i \in N.$$

Proof. Since A^{-1} is doubly stochastic and A is an M -matrix, by Lemma 2.6, we have

$$a_{ii} = \sum_{k \neq i} |a_{ik}| + 1 = \sum_{k \neq i} |a_{ki}| + 1, \quad i \in N \quad \text{and} \quad b_{ii} + \sum_{j \neq i} b_{ji} = 1, \quad i \in N.$$

The matrix A is strictly row diagonally dominant. Then, by Lemma 2.2 (a), for $i \in N$, we have

$$\begin{aligned} 1 &= b_{ii} + \sum_{j \neq i} b_{ji} \leq b_{ii} + \sum_{j \neq i} \frac{|a_{ji}| + \sum_{k \neq i} |a_{jk}| r_i}{a_{jj}} b_{ii} \\ &= \left(1 + \sum_{j \neq i} \frac{|a_{ji}| + \sum_{k \neq i} |a_{jk}| r_i}{a_{jj}} \right) b_{ii} \\ &= \left(1 + \sum_{j \neq i} m_{ji} \right) b_{ii}. \end{aligned}$$

i.e., $b_{ii} \geq \frac{1}{1 + \sum_{j \neq i} m_{ji}}$, $i \in N$. \square

Theorem 3.2. Let $A = (a_{ij}) \in R^{n \times n}$ be an M -matrix, and let $A^{-1} = (b_{ij})$ be doubly stochastic. Then

$$\tau(A \circ A^{-1}) \geq \min_i \left\{ \frac{a_{ii} - m_i R_i}{1 + \sum_{j \neq i} m_{ji}} \right\}.$$

Proof. (1) First, we assume that A is irreducible. Since A^{-1} is doubly stochastic, we obtain from Lemma 2.6 that

$$a_{ii} = \sum_{j \neq i} |a_{ij}| + 1 = \sum_{j \neq i} |a_{ji}| + 1 \quad \text{and} \quad a_{ii} > 1, \quad i \in N.$$

Let

$$R_j^r = \sum_{k \neq j} |a_{jk}| r_i, \quad j \neq i, \quad i \in N.$$

Then, for any $j \in N, j \neq i$

$$R_j^r = \sum_{k \neq j} |a_{jk}| r_i \leq |a_{ji}| + \sum_{k \neq j, i} |a_{jk}| r_i \leq R_j = \sum_{k \neq j} |a_{jk}| \leq a_{jj}.$$

Therefore, there exists a real number $\beta_{ji} (0 \leq \beta_{ji} \leq 1)$, such that

$$|a_{ji}| + \sum_{k \neq j, i} |a_{jk}| r_i = \beta_{ji} R_j + (1 - \beta_{ji}) R_j^r.$$

Hence

$$m_{ji} = \frac{\beta_{ji} R_j + (1 - \beta_{ji}) R_j^r}{a_{jj}}.$$

Let $\beta_j = \max_{i \neq j} \{\beta_{ji}\}, 0 < \beta_j \leq 1$ (if $\beta_j = 0$, then A is reducible, which is a contradiction). Let

$$m_j = \max_{i \neq j} \{m_{ji}\} = \frac{\beta_j R_j + (1 - \beta_j) R_j^r}{a_{jj}}, \quad j \in N.$$

Since A is irreducible, then $R_j > 0, R_j^r > 0$ and $0 < m_j \leq 1$. Thus, by Lemma 2.4, there exists $i_0 \in N$ such that

$$|\lambda - a_{i_0 i_0} b_{i_0 i_0}| \leq m_{i_0} \sum_{j \neq i_0} \frac{1}{m_j} |a_{j i_0} b_{j i_0}|.$$

i.e.,

$$\begin{aligned} |\lambda| &\geq a_{i_0 i_0} b_{i_0 i_0} - m_{i_0} \sum_{j \neq i_0} \frac{1}{m_j} |a_{j i_0} b_{j i_0}| \\ &\geq a_{i_0 i_0} b_{i_0 i_0} - m_{i_0} \sum_{j \neq i_0} \frac{a_{jj}}{\beta_j R_j + (1 - \beta_j) R_j^r} |a_{j i_0}| \frac{|a_{j i_0}| + \sum_{k \neq j, i_0} |a_{jk}| r_{i_0}}{a_{jj}} b_{i_0 i_0} \end{aligned}$$

$$\begin{aligned} &\geq a_{i_0 i_0} b_{i_0 i_0} - m_{i_0} \sum_{j \neq i_0} |a_{j i_0}| b_{i_0 i_0} \\ &= (a_{i_0 i_0} - m_{i_0} R_{i_0}) b_{i_0 i_0} \\ &\geq \frac{a_{i_0 i_0} - m_{i_0} R_{i_0}}{1 + \sum_{j \neq i_0} m_{j i_0}} \\ &\geq \min_i \left\{ \frac{a_{ii} - m_i R_i}{1 + \sum_{j \neq i} m_{ji}} \right\}. \end{aligned}$$

(2) When A is reducible, without loss of generality, we can assume that A has the block upper triangular form

$$A = \begin{bmatrix} A_{11} & A_{12} & \dots & A_{1S} \\ & A_{22} & \dots & A_{2S} \\ & & \dots & \dots \\ & & & A_{SS} \end{bmatrix}$$

with irreducible diagonal blocks A_{ii} , $i = 1, 2, \dots, S$. Then A^{-1} is again block upper triangular with irreducible diagonal blocks A_{ii}^{-1} . Observing that $\tau(A \circ A^{-1}) = \min_k \tau(A_{kk} \circ A_{kk}^{-1})$ concludes the proof. \square

Theorem 3.3. Let $A = (a_{ij}) \in R^{n \times n}$ be an M -matrix with $a_{11} = a_{22} = \dots = a_{nn}$, and suppose $A^{-1} = (b_{ij})$ is doubly stochastic. Then

$$\min_i \left\{ \frac{a_{ii} - m_i R_i}{1 + \sum_{j \neq i} m_{ji}} \right\} \geq \min_i \left\{ \frac{a_{ii} - s_i R_i}{1 + \sum_{j \neq i} s_{ji}} \right\}.$$

Proof. Since A^{-1} is doubly stochastic, by Lemma 2.6, we have

$$a_{ii} = \sum_{k \neq i} |a_{ik}| + 1 = \sum_{k \neq i} |a_{ki}| + 1.$$

Then for every $i \in N$,

$$r_i = \max_{l \neq i} \left\{ \frac{|a_{li}|}{|a_{ll}| - \sum_{k \neq l, i} |a_{lk}|} \right\} = \max_{l \neq i} \left\{ \frac{|a_{li}|}{1 + |a_{li}|} \right\} = \frac{\max_{l \neq i} |a_{li}|}{1 + \max_{l \neq i} |a_{li}|}.$$

Since $f(x) = \frac{x}{1+x}$ is an increasing function on $(0, +\infty)$, we have

$$r_i = \frac{\max_{l \neq i} |a_{li}|}{1 + \max_{l \neq i} |a_{li}|} \leq \frac{\sum_{k \neq i} |a_{ki}|}{1 + \sum_{k \neq i} |a_{ki}|} = \frac{\sum_{k \neq i} |a_{ki}|}{a_{ii}} = \frac{\sum_{k \neq i} |a_{ik}|}{a_{ii}} = d_i, \quad i \in N.$$

Since A is an M -matrix with $a_{11} = a_{22} = \dots = a_{nn}$ and $A^{-1} = (b_{ij})$ is doubly stochastic, we have

$$d_i = d_j, \quad j \neq i, \quad a_{ii} = \sum_{k \neq i} |a_{ik}| + 1 = \sum_{k \neq j} |a_{jk}| + 1 = a_{jj}.$$

So $r_i \leq d_k$, $i, k \in N$. Then, we obtain

$$s_{ji} = \frac{|a_{ji}| + \sum_{k \neq j, i} |a_{jk}| d_k}{a_{jj}} \geq \frac{|a_{ji}| + \sum_{k \neq j, i} |a_{jk}| r_i}{a_{jj}} = m_{ji}, \quad j \neq i.$$

So

$$s_i = \max_{j \neq i} \{s_{ij}\} \geq \max_{j \neq i} \{m_{ij}\} = m_i, \quad i \in N.$$

Therefore

$$a_{ii} - s_i R_i \leq a_{ii} - m_i R_i \quad \text{and} \quad \frac{1}{1 + \sum_{j \neq i} s_{ji}} \leq \frac{1}{1 + \sum_{j \neq i} m_{ji}}.$$

Thus, for any $i \in N$, we have

$$\min_i \left\{ \frac{a_{ii} - m_i R_i}{1 + \sum_{j \neq i} m_{ji}} \right\} \geq \min_i \left\{ \frac{a_{ii} - s_i R_i}{1 + \sum_{j \neq i} s_{ji}} \right\}. \quad \square$$

Remark 3.1. Theorem 3.3 shows that the result of Theorem 3.2 is better than the result $\tau(A \circ A^{-1}) \geq \min_i \left\{ \frac{a_{ii} - s_i R_i}{1 + \sum_{j \neq i} s_{ji}} \right\}$ of Theorem 3.1 of [7]. So, the result of Theorem of 3.1 is improved.

Theorem 3.4. Let $A = (a_{ij}) \in R^{n \times n}$ be an M -matrix. Then

$$\tau(A \circ A^{-1}) \geq \min_i \left\{ 1 - \frac{1}{a_{ii}} \sum_{j \neq i} |a_{ji}| m_{ji} \right\}.$$

Proof. If A is an irreducible M -matrix, then A^{-1} is positive and $A \circ A^{-1}$ is again irreducible. By a result of Sinkhorn [11], there exist diagonal matrices D_1 and D_2 with positive diagonal entries such that $D_1 A^{-1} D_2$ is doubly stochastic. The matrix $B = D_2^{-1} A D_1^{-1}$ is again an M -matrix and satisfies $\tau(A \circ A^{-1}) = \tau(B \circ B^{-1})$, for $B \circ B^{-1} = (D_2^{-1} A D_1^{-1}) \circ (D_1 A^{-1} D_2) = (D_1 D_2^{-1})(A \circ A^{-1})(D_1 D_2^{-1})^{-1}$.

So, for convenience and without loss of generality, we may assume that A is irreducible and $A^{-1} = (b_{ij})$ is doubly stochastic.

Since $A^{-1} = (b_{ij})$ is doubly stochastic, then, by Lemma 2.6, for every $i \in N$,

$$a_{ii} = \sum_{j \neq i} |a_{ij}| + 1 = \sum_{j \neq i} |a_{ji}| + 1.$$

Note that

$$\tau(A \circ A^{-1}) = \tau((A \circ A^{-1})^T) = \tau(A^T \circ (A^T)^{-1}).$$

Let

$$(A^T \circ (A^T)^{-1})e = (q_1, q_2, \dots, q_n)^T,$$

where $e = (1, 1, \dots, 1)^T$. Without loss of generality, let $q_1 = \min_i \{q_i\}$. Then, by Lemma 2.2, we have

$$\begin{aligned} q_1 &= \sum_{j=1}^n a_{j1} b_{j1} = a_{11} b_{11} - \sum_{j \neq 1} |a_{j1}| b_{j1} \\ &\geq a_{11} b_{11} - \sum_{j \neq 1} |a_{j1}| \frac{|a_{j1}| + \sum_{k \neq j, 1} |a_{jk}| r_1}{a_{jj}} b_{11} \\ &= \left(a_{11} - \sum_{j \neq 1} |a_{j1}| m_{j1} \right) b_{11} \quad (\text{by Lemma 2.3}) \\ &\geq \frac{a_{11} - \sum_{j \neq 1} |a_{j1}| m_{j1}}{a_{11}} \\ &= 1 - \frac{1}{a_{11}} \sum_{j \neq 1} |a_{j1}| m_{j1}. \end{aligned}$$

Therefore, by Lemma 2.5, we have

$$\tau(A \circ A^{-1}) = \tau(A^T \circ (A^T)^{-1}) \geq \min_i \left\{ 1 - \frac{1}{a_{ii}} \sum_{j \neq i} |a_{ji}| m_{ji} \right\}. \quad \square$$

Remark 3.2. From the proof of Theorem 3.3, we know that $s_{ji} \geq m_{ji}, j \neq i$. So, we have

$$1 - \frac{1}{a_{ii}} \sum_{j \neq i} |a_{ji}| m_{ji} \geq 1 - \frac{1}{a_{ii}} \sum_{j \neq i} |a_{ji}| s_{ji}.$$

This shows that the result of Theorem 3.4 is better than the result $\tau(A \circ A^{-1}) \geq \min_i \left\{ 1 - \frac{1}{a_{ii}} \sum_{j \neq i} |a_{ji}| s_{ji} \right\}$ in Theorem 3.5 of [7].

4. Example

Consider the following M -matrix

$$A = \begin{bmatrix} 4 & -1 & -1 & -1 \\ -2 & 5 & -1 & -1 \\ 0 & -2 & 4 & -1 \\ -1 & -1 & -1 & 4 \end{bmatrix}.$$

Since $Ae = e$ and $A^T e = e, A^{-1}$ is doubly stochastic. By calculations we have

$$A^{-1} = \begin{bmatrix} 0.4 & 0.2 & 0.2 & 0.2 \\ 0.2333 & 0.3667 & 0.2 & 0.2 \\ 0.1667 & 0.2333 & 0.4 & 0.2 \\ 0.2 & 0.2 & 0.2 & 0.4 \end{bmatrix}.$$

(1) Upper bounds for entries of A^{-1} . First, by Lemma 2.1 (a), we obtain

$$A^{-1} \leq \begin{bmatrix} 1 & 0.75 & 0.75 & 0.75 \\ 0.8 & 1 & 0.8 & 0.8 \\ 0.75 & 0.75 & 1 & 0.75 \\ 0.75 & 0.75 & 0.75 & 1 \end{bmatrix} \circ \begin{bmatrix} b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \end{bmatrix}.$$

If we apply Theorem 2.1 (a) of [7], we have

$$A^{-1} \leq \begin{bmatrix} 1 & 0.625 & 0.6375 & 0.6375 \\ 0.7 & 1 & 0.65 & 0.65 \\ 0.5875 & 0.6875 & 1 & 0.65 \\ 0.6375 & 0.625 & 0.5 & 1 \end{bmatrix} \circ \begin{bmatrix} b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \end{bmatrix}.$$

If we apply Corollary 2.5 (2.7) of [7], we have

$$A^{-1} \leq \begin{bmatrix} 1 & 0.6667 & 0.5 & 0.5 \\ 0.6667 & 1 & 0.5 & 0.5 \\ 0.6667 & 0.6667 & 1 & 0.5 \\ 0.6667 & 0.6667 & 0.6667 & 1 \end{bmatrix} \circ \begin{bmatrix} b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \end{bmatrix}.$$

Combining Theorem 2.1 (a) of [7] and Corollary 2.5 (2.7) of [7], we have

$$A^{-1} \leq \begin{bmatrix} 1 & 0.625 & 0.5 & 0.5 \\ 0.6667 & 1 & 0.5 & 0.5 \\ 0.5875 & 0.6667 & 1 & 0.5 \\ 0.6375 & 0.625 & 0.5 & 1 \end{bmatrix} \circ \begin{bmatrix} b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \end{bmatrix}.$$

Now if we apply Lemma 2.2 (a), we have

$$A^{-1} \leq \begin{bmatrix} 1 & 0.583 & 0.5 & 0.5 \\ 0.6667 & 1 & 0.5 & 0.5 \\ 0.5 & 0.6667 & 1 & 0.5 \\ 0.583 & 0.583 & 0.5 & 1 \end{bmatrix} \circ \begin{bmatrix} b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \\ b_{11} & b_{22} & b_{33} & b_{44} \end{bmatrix}. \tag{4.1}$$

Comparing the result of Lemma 2.2 (a) with the other results, we see that the result of Lemma 2.2 (a) is the best.

Theorem 2.3 of [7] and Lemma 3.2 of [7] give the following bounds for the diagonal entries of A^{-1} :

$$\begin{aligned} 0.3419 \leq b_{11} \leq 0.5882; & \quad 0.3404 \leq b_{22} \leq 0.5128, \\ 0.3419 \leq b_{33} \leq 0.6061; & \quad 0.3404 \leq b_{44} \leq 0.5882. \end{aligned}$$

If we apply Theorem 3.1 and Lemma 2.3, we obtain better bounds:

$$\begin{aligned} 0.3637 \leq b_{11} \leq 0.4430; & \quad 0.3530 \leq b_{22} \leq 0.3870, \\ 0.4 \leq b_{33} \leq 0.4; & \quad 0.4 \leq b_{44} \leq 0.4. \end{aligned}$$

(2) Lower bounds for $\tau(A \circ A^{-1})$.

If we apply the conjecture of Fiedler and Markham, we have

$$\tau(A \circ A^{-1}) \geq \frac{2}{n} = \frac{1}{2} = 0.5.$$

If we apply Theorem 3.1 of [7] we have

$$\tau(A \circ A^{-1}) \geq 0.6624.$$

If we apply Theorem 9 of [8] with $A = B$, we have

$$\tau(A \circ A^{-1}) \geq 0.2614.$$

The bound in our Theorem 3.2 is better:

$$\tau(A \circ A^{-1}) \geq 0.7999.$$

Acknowledgments

The authors sincerely thank the referees for valuable comments and pointing out some errors in the original version of this paper, which led to a substantial improvement in this paper.

References

- [1] D.M. Young, *Iterative Solution of Large Linear Systems*, Academic Press, New York, 1971.
- [2] M. Fiedler, T.L. Markham, An inequality for the Hadamard product of an M -matrix and inverse M -matrix, *Linear Algebra Appl.* 101 (1988) 1–8.
- [3] M. Fiedler, C.R. Johnson, T. Markham, M. Neumann, A trace inequality for M -matrices and the symmetrizability of a real matrix by a positive diagonal matrix, *Linear Algebra Appl.* 71 (1985) 81–94.
- [4] X.R. Yong, Proof of a conjecture of Fiedler and Markham, *Linear Algebra Appl.* 320 (2000) 167–171.
- [5] Y.Z. Song, On an inequality for the Hadamard product of an M -matrix and its inverse, *Linear Algebra Appl.* 305 (2000) 99–105.
- [6] S.C. Chen, A lower bound for the minimum eigenvalue of the Hadamard product of matrix, *Linear Algebra Appl.* 378 (2004) 159–166.
- [7] H.B. Li, T.Z. Huang, S.Q. Shen, H. Li, Lower bounds for the eigenvalue of Hadamard product of an M -matrix and its inverse, *Linear Algebra Appl.* 420 (2007) 235–247.
- [8] R. Huang, Some inequalities for the Hadamard product and the Fan product of matrices, *Linear Algebra Appl.* 428 (2008) 1551–1559.
- [9] R.S. Varga, Minimal Gerschgorin sets, *Pacific J. Math.* 15 (2) (1965) 719–729.
- [10] X.R. Yong, Z. Wang, On a conjecture of Fiedler and Markham, *Linear Algebra Appl.* 288 (1999) 259–267.
- [11] R. Sinkhorn, A relationship between arbitrary positive matrices and doubly stochastic matrices, *Ann. Math. Statist.* 35 (1964) 876–879.